

SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

Reference No: AMS/SBB-TC/PROC/2017-18/19

Dated: 14- Delember - 2017

Ph: 02199216384 Fax: 02199215733

The Director (A&F)

Sindh Public Procurement Regulatory Authority, Government of Sindh, Karachi.

SUBJECT:

NOTICE OF CANCELLATION OF TENDER

TENDER NAME: SUPPLY OF UNIFORM AND PROTECTIVE CLOTHING NOTICE INVITING TENDER # AMS/SBB-TC/PROC/2017-18/124
TENDER REFERENCE NO.: AMS/SBB-TC/PROC/ (UPC-01) 2017-18

It is notified for information to all the interested bidders regarding above mentioned Notice Inviting Tender (NIT) against Supply of Uniform and Protective Clothing (Reference No.: AMS/SBB-TC/PROC/ (UPC- 01) 2017-18) hoisted at Authority's website at SPPRA Serial No. 35230 that said tender has been cancelled.

All interested bidders are requested to note.

Additional Medical Superintendent / DDO SBB Accident Emergency & Trauma Centre

Copy to:-

1. All Bidders

2. Notice Board

SPPRA INWAPD DIARY
NO 3925
DA L 14-12-17
ASAR

Additional Medical Superintendent / DDO SBB Accident Emergency & Trauma Centre



SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

No: AMS/SBB-TC/PROC/2017-18/213 Dated: 18-Delember - 2017

Ph: 02199216384 Fax: 02199215733

The Director (A&F)

Sindh Public Procurement Regulatory Authority, Government of Sindh, Karachi.

SUBJECT: REQUEST FOR HOISTING BID EVALUATION REPORT OF NIT NO. AMS/SBB-TC/PROC/2017-18/124 Dated: 06-Nov-2017 (SPPRA - S.NO: 35320)

Enclosed please find attached herewith the documents for subject NIT;

 "Supply of Expenditure on Diet for Patients (Diet-Enteric, Feeding, Food Supplement) TENDER REF# AMS/SBB-TC/PROC(DIET-01)2017-18

You are requested to please hoist the following documents of subject NIT on your website.

- Bid Evaluation Report (Original).
- Technical Evaluation Report (T.E.R)
- Technical Minutes of PC Meeting
- Technical Comparative Statement (Original)

Your cooperation in this regard will be highly appreciated.

ADDL. MEDICAL SUPERINTENDENT
SBB ACCIDENT EMERGENCY & TRAUMA CENTRE KARCHI

Enclosures:

- 1. Copy of Notice Inviting Tender (N.I.T) hoisted on SPPRA website Vide S.# 35320
- 2. Copy of Notification of Procurement Committee
- 3. Copy of Notification of Complaint Redress Committee
- 4. Copy of Annual Procurement Plan
- 5. Attendance Sheet of PC Members & Bidders

Copy to:

1. All Bidders

2. J.T. Department - SBB Trauma Centre

ADDL. MEDICAL SUPERINTENDENT SBB ACCIDENT EMERGENCY & TRAUMA CENTRE KARCHI

SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI



No: AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November -2017

TENDER NOTICE

Shahced Benazir Bhutto Accident Emergency & Trauma Centre invites sealed bids as per Sindh Public Procurement Regulatory Authority Rules from the Manufactures/Suppliers/Authorized Distributors etc. for Current Financial Year 2017-18 of followings:

S.#	Name of Tenders	Bidding Document Cost (Rs.)	Bid / Tender Security	Tender Purchasing Date	Date of Submission and Opening
1.	Supply of Expenditure on Diet for Patients (Diet-Enteric, Feeding and Food Supplements) Tender Reference # AMS / SBB-TC / PROC / (DIET-01) 2017-18 Bidding Procedure: Single Stage- One Envelope 46(1)	2000	2% of Bid Amount	07-11-2017 to 29-11-2017	30-11-2017 between 09:00 - 11:00 a.m. and 30-11-2017 at 11:30 a.m. respectively
2.	Supply of Newspaper, Periodical, Medical Books and Journals Tender Reference # AMS / SBB-TC / PROC / (NPB-01) 2017-18 Bidding Procedure: Single Stage- One Envelope 46(1)	2000	2% of Bid Amount	14-11-2017 to 07-12-2017	07-12-2017 between 09:00 - 11:00 a.m. and 07-12-2017 at 11:30 a.m. respectively
3.	Supply of Other Items Tender Reference # AMS / SBB-TC / PROC / (OTHERS-01) 2017-18 Bidding Procedure: Single Stage- One Envelope 46(1)	2000	2% of Bid Amount	14-11-2017 to 07-12-2017	07-12-2017 between 09:00 - 11:00 a.m. and 07-12-2017 at 11:30 a.m. respectively
4.	Supply of Uniform and Protective Clothing Tender Reference # AMS / SBB-TC / PROC / (UPC-01) 2017-18 Bidding Procedure: Single Stage- Two Envelope 46(2)	2000	2% of Bid Amount	14-11-2017 to 14-12-2017	14-12-2017 between 09:00 - 11:00 a.m. and 14-12-2017 at 11:30 a.m. respectively

 Complete set of tender documents containing BOQ, Specification and Terms & Conditions can be purchased from Planning & Procurement Department, Twelve Floor SBB Accident Emergency & Trauma Centre through pay order of Rs. 2000 each in favor of Addl. Medical Superintendent SBB Trauma Centre, Chand Bibi Road, Karachi Tender documents can also be downloaded from SPPRA website www.pprasindh.gov.pk and www.chk.gov.pk.



SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

No: AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November -2017

- Bids must be submitted on the above date between 09:00 to 11:00 a.m. at Planning & Procurement Department, Twelve Floor SBB Accident Emergency & Trauma Centre.
- Submitted bids will be opened publicly at 11:30 a.m. on the same day in the presence of bidders or their authorized representatives who choose to attend.
- 4. All bid(s) shall include Government Taxes/Contribution etc. (if applicable).
- 5. The deductions in the bills will be done as per Government rules.
- Bid / Tender Security @ 2% of total value of the quoted items by firms in shape of Pay Order / Demand Draft must be attached.
- In case of announcement of Public Holiday or any unfavorable circumstances, the bids shall be submitted and opened as per given schedule on the next working day.

ADDL. MEDICAL SUPERINTENDENT/DDO
SBB Accident Emergency & Trauma Centre

A copy is forwarded for information to:

1. Notice Board



GOVERNMENT OF SINDH HEALTH DEPARTMENT

NOTIFICATION

No.SO(PM&I)2-1/17-18/M-13(SBBTC): A Procurement Committee under Rules-7 of Sindh Public Procurement Rules 2010 (Amended 2017) is hereby constituted comprising the following Officers / Official for procurement committee for all the procurement procedures of SBB Accident Emergency & Trauma Centre, Karachi, for the financial year 2017-18.

01.	Additional Medical Superintendent, SBB Accident Emergency & Trauma Centre.	Chairman
02.	Professor of Anaesthesia, Dow University of Health Sciences.	Member
03	Professor of Surgery, Dow University of Health Sciences.	Member
04.	Deputy Medical Superintendent, SBB Accident Emergency & Trauma Centre.	Member
05.	Pharmacist. SBB Accident Emergency & Trauma Centre.	Member

TORS

The TORs / Functions / Responsibilities of the Procurement committee in accordance with Rule-8 of SPP Rules 2010 shall be as under:

- a) Preparing bidding documents;
- b) Carrying out technical as well as financial evaluation of the bids:
- c) Preparing evaluation report as provided in Rule-45:
- d) Making recommendations for the award of contract to the competent authority:
- e) Perform any other function ancillary and incidental to the above

SECRETARY HEALTH

No.SO(PM&I)2-1/17-18/M-13(SBBTC):

Karachi, dated: 03rd July, 2017

C.C to:

- 1. The Managing Director, Sindh Public Procurement Regulatory Authority, Karachi,
- The Addl. Medical Superintendent, SBB Accident Emergency & Trauma Centre, Karachi with reference to his letter dated: 21.06.2017.
- 3. The Chairman & all members of the Committee.
- 4. The P.S. to Secretary Health.

(NAVERD/AHMED SOOMRO) SECTION SELECT (PM&I)



NO.HD(P&E) 3-2 (427)/2014
GOVERNMENT OF SINDH
HEALTH DEPARTMENT
(Procurement, Monitoring and Inspection Cell)
Karachi dated the 10th APRIL, 2017.

HOTIFICATION

16.115 P.Z. 2)3-2(427)/2014. In supersession to this department's notification of even number 1.5-4 3-0.3-2017 and in pursuance of Rule 31 of the Sindh Public Procurement Rules, 2010, a Departmental Complaint Redressal Committee, comprising of following officers is hereby reconstituted as under to resolve complaints of aggrieved bidders:

 Special Secretary, Health Department. Chairman

2. Representative from Accountant General Sindh,

Member

 Independent expert from relevant field concerning (to be nominated by the Head of Procuring Agency)

Member

4. Deputy Secretary (PM&I)

Member

5. Deputy'Secretary (General)

Member/Secretary

ToRs.

)

- To perform according to Rule 31 of SPPRA, 2010.
- · To Perform any other function ancillary and incidental to the above. -

- DR. FAZLULLAH PECHUHO -SECRETARY TO GOVERNMENT OF Sindh

No.HD(P&E)3-2(427)/2014.

Karachi dated the 10th APRIL, 2017

- 1. The D.G.Health Services, Sindh, Hyderabad.
- 2. The District Health Officers (All)
- Medical Superintendents (All)
- 4 All the Member of the Committee.
- 5. The PS to Secretary Health Department, Govt. of Sindh, Karachi.
- 6 Office order file.

SECTION OFFICER (PM&I)

notests notests

hatantici soci) sici) see(W) (sideologie

hatemited mixed thind fast amiliate

should oi) totaledly (self solition hversperi'i terantantaer'i hostroff 99-2182 janusinas 24 ps Zamaj j

90 , 0 mb est 100,1 no or $\alpha \dot{\alpha}_{s,s} c$ nti_mt 1, 64

46,1

Kemak

31012004

wil half en sambengal lie gippe bend A godoo'l, amin'l-tally aman'l menendoppe -5 toc. may'n at alox 21AA willow \$510.00

20070 (1907)

10 K

ATTENDENCE SHEET OPENING OF PROPOSAL

DATE OF MEETING: 30-NOVEMBER-2017 AT 11:30 a.m.

NAME OF TENDER:

SUPPLY OF " EXPENDITURE ON DIET FOR PATIENT (DIET- ENTERIC, FEEDING AND FOOD SUPPLEMENT)"

FOR SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

TENDER REFERENCE # AMS/SBB-TC/PROC/(DIET-01)2017-18

S.#	NAME WITH DESIGNATION	N SIGNATURE	PHONE NO.
Lacronia .	Dr. Yasmeen Kharal (Chairperson-PC) Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi	Marine	0333-2193118
2.	Prof. Safia Zafar (Member-PC) Department of Anaesthesia Dow University of Health Sciences Karachi	Sofei Info	0333-2149249
3.	Dr. Sharyar Ghazanfar (Member-PC) Professor of Surgery Dow University of Health Sciences Karachi	Mahinga	0333-3782429
4.	Dr. Amir Raza Abedi (Member-PC) Deputy Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi	TOBON.	0321-2420372
5.	Dr. Faiza Fakhar (Member-PC) Pharmacist SBB Accident Emergency & Trauma Centre Karachi		0323-2468305



ATTENDENCE SHEET OF BIDDER OPENING OF PROPOSAL

DATE OF MEETING: 30-NOVEMBER-2017 AT 11:30 a.m.

NAME OF TENDER:

SUPPLY OF " EXPENDITURE ON DIET FOR PATIENT (DIET- ENTERIC, FEEDING AND FOOD SUPPLEMENT)"

FOR SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

TENDER REFERENCE # AMS/SBB-TC/PROC/(DIET-01)2017-18

S.#	NAME OF COMPANY	NAME OF COMPANY REPRESENTATIVE	PHONE NO.	SIGNATURE
	Forms Associate	Emhaz Ali	0341-3553335	Juon
		A SON		
		32111	C/X	
			70	
		25 38 11/1/	Juliugal	

BID EVALUATION REPORT

1. Name of Procuring Agency:

2. Tender Reference No:

3 ender Description/Name of item:

4. Method of Procurement:

5. Tender Published:

6. Total Bid documents Sold:

7. Total Bids Received:

8. Tender Opening date:

9. Estimated Cost:

10. Bid Evaluation Report:

SBB ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

NO. AMS/SBB-TC/PROC/(DIET-01)2017-18

SUPPLY OF EXPENDITURE ON DIET FOR PATIENTS (DIET-ENTERIC,

FEEDING AND FOOD SUPPLEMENT) FOR SHAHEED BENAZIR BHUTTO

ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI SINGLE STAGE - ONE ENVELOP PROCEDURE BASIS

HOISTED ON SPPRA WEBSITE @ S. NO. 35230

One

One

30-November-2017

15 Million

S No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3	4	5	6
1.	M/s. Faraz Associates	Please see item wise comparative statement		On Lowest Basis		

Reasons of acceptance/ rejection have been recorded in "Minutes/Technical Evaluation Report".

Procurement Committee has recommended to award the tender to the firm whose bid has found to be substantially responsive, to best evaluated and on lowest basis within allocated budget under this head.

Item wise comparative statement is attached in ascending order.

Prof. Shahriyar Ghazanfar Professor Shahriyar Ghazanfar Professor of Surgery MRCS Ed. FCPS

Dow University of Health Sciences, Karachi

Dow University of Health Sciences

Karachi

Prof. (Dr.) Safia Zafar DR SAFIA DEPARABLEMENTA

Dow University of Health Department of As Sciences

Surgicul myznin Dow Lawersing

.... ociences Civil Hospital Karachi.

Dr. Sved Amir Raza Abedi

Deputy Medical Superintendent

SBB Accident Emergency

&Trauma Centre Karachi

Dr. Yasmeen Kharal

Additional medical Superintendent /DDo Shaheed What Bakazir Bhutto Accident Emergency Centre and Ancillary

Accident Emergency Centre and Ancillary Serv Dr.s Yasmeen Kharal Hospital

Chairperson GHRC

Additional Medical Superintendent SBB Accident Emergency &Trauma

Centre Karachi

Pharmacist 1 4 1 **SMBB Truma Centre** Karachi

Faiza Fakhar Pharamacist

SBB Accident Emergency & Trauma Centre Karachi

DR. AMIR RAZA ABEDI

Deputy Medical Superintercent SMBB Trauma Centre Karachi

MINUTES OF BID OPENING MEETING

NIT No.	AMS/SBB-TC/Proc/2017-18/124
SPPRA SERIAL #	345230
Reference No.	AMS/SBB-TC/PROC/(DIET-01)2017-18
Method and procedure of procurement	Single Stage - One Envelope Procedure
Technical Opening Date	30-November-2017

Name of Work:

Supply of Expenditure on Diet for Patients

(Diet-Enteric, Feeding, Food Supplement)

for SBB Accident Emergency & Trauma Centre,

Karachi

Meeting of the SBB Procurement Committee (PC) was held on Thursday, 30-November-2017 for opening of above mentioned NIT. Meeting was attended by members of the Procurement Committee and the representative of bidders. (Attendance sheets are enclosed).

In response of above, following prospective bidder downloaded the SBD's online and attached pay order of tender fee for above work till closing date:-

1. M/s. Faraz Associates

The following bidders submitted their bids till the deadline of submission:

1. M/s. Faraz Associates

Bids were opened at 11:30 am by Procurement Committee in presence of bidders or their authorized representatives and the rates quoted by bidders were read aloud and encircled by Chairperson of Procurement Committee (PC). All Members of Procurement Committee signed each and every page of financial proposal / bid. Bids do not contain any over-writing or cutting.

Procurement Committee examined the bid as per the qualification/ eligibility criteria provided in the bidding documents. After examination of required documents and arithmetical checks; Procurement Committee verified the documents and bid security submitted by the bidders.

Following bidder fulfilled the mandatory requirements and stand qualified (Details are described in attached T.E.R):

S. No.	Name of Bidders	Amount of Bid Security	Pay Order No./ Date
1.	M/s. Faraz Associates	Rs. 55,000/-	Meezan Bank Shaheen Complex Branch PO# 3679539 Dated: 29-11-2017

Arm.

Sole

12-4

* Position of Financial Evaluation is attached in item wise Comparative Statement.

Procurement Committee has recommended to award the contract on lowest basis to the bidders in the categories where its offer found to be best evaluated.

Meeting ended with vote of thanks to and from the Chair.

Prof. Shahriyar Ghazanfar

Professor Chahrivar Chazaniar MRCS Ed FCPS Department of Surgery Prof. Shainiyai Ghazaniai
Prof. of Surgery
Dow Medical College & Civil Hospital
Dow University of Health Sciences
Civil Hospital
Dow University of Health Sciences
Dow University of Health Sciences

Department of Anaesthesia Dow University of Health Sciences Karachi Dow University of Health Sciences Civil Hospital Karachi.

Dr. Syed Amir Raza Abedi Deputy Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi

DR. AMIR RAZA ABEDI **Deputy Medical Superintendent** SMBB Trauma Centre Karachi

Dr . Yasmeen Kharal Additional medical Superintendent /DDo Shaheed Mohtarma Benazir Bhutto Accident Engrgency Cen (2) and Ancillary Services Complex (6) Sivil Hospital

Dr. Yasmeen Kharal Chairperson - PC Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi

Pharmacist SMBB Truma Centre Karachi Dr. Faiza Fakhar Pharmacist

SBB Accident Emergency & Trauma Centre Karachi

SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE, KARACHI TECHNICAL EVALUATION REPORT (TER)

TENDER NO.: AMS/SBB-TC/PROC/(DIET-01)2017-18

DATE OF OPENING OF PROPOSAL: 30-November-2017

NAME OF WORK: Supply of Expenditure on Diet for Patients (Diet-Enteric, Feeding, Food Supplement)

S.No.	Terms & Condition	M/s. Faraz Associates
į	Compliance of Terms & Conditions / Instructions mentioned in the Bid Form / NIT.	Yes
2	Relevant Experience with documentary proof (Last Three Years)	Yes
3	i) Registration with Income Tax – NTN Certificate ii) Copy of Professional Tax 2016/17	Yes
4	Authority letter from Manufacturer or Importer.	Yes
5	General Sales Tax (Mandatory) / Sindh Sales Tax (if applicable) / Sindh Board of Revenue (Registration is not required in procurement of Goods)	Yes
6	Original Bank Certificate regarding financial soundness (Last Three Years) of the firm to do business up till 15 Million each year	Yes
7	Copy of the Pay order / Bank Draft of Bid security / Earnest money should be attached without showing the amount along with technical bid document. (Original bid security should be attached with financial proposal).	Yes
8	Submission of undertaking on legal valid and attested stamp paper that the firm is not blacklisted and Litigated by any institute of Federal, Provincial Government or any Department / Agency / Organization / autonomous body or Private Sector Organization anywhere in Pakistan.	Yes
9	Bidder already providing same services at SBB-TC should obtain & attach a satisfactory performance certificate from competent authority.	Not Applicable
10	Sample of quoted item (Non-refundable)	Yes

Prof. Shahriyar Ghazanfar Shahriyar Ghazanfar Prof. of Surgery

Dow University of Health Sciences Karachi

Dow University of Health Sciences

Karachi

Dr. Syed Amir Raza Abedi Deputy Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi

DR. AMIR RAZA ABEDI Deputy Medical Superintendent SMBB Trauma Centre Karachi

Dr . Yasmeen Kharal

Additional medical Superintendent /DDo Shaheed Mohtarma Benazir Bhutto Accident Emergency Centre and Ancillary Services pmplex @ Civil Hospital

> Dr. Yasmeen Kharal Chairperson - PC

Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi

Department of Brak Drn Salia Zafar Sarghe diese as up grasping at of Amaresthosia

> **Pharmacist** SMBB Truma Com Karachi

> > Dr. Faiza Fakhar Pharmacist SBB Accident Emergency & Trauma Centre Karachi

SUPPLY OF EXPENDITURE ON DIET FOR PATIENTS (DIET- ENTERIC, FEEDING AND FOOD SUPPLEMENT)

FINANCIAL COMPARATIVE STATEMENT

NIT	AMS/SBB-TC/PROC/2017-18/124 dated: 06-NOVEMBER-2017			
TENDER REFERENCE #	AMS/SBB-TC/PROC/(DIET-01)/2017-18			
SPPRA SERIAL #	35230			
DATE OF T. OPENING	30-NOVEMBER-2017			

S.NO.	Items	Qty	Unit	Nan	ne of Quoted Firm	Manufacturer	Country of Origin	Brand Name / ID / Category #	Quoted Unit Price (In Rs.)	Total Quoted Price (In Rs.)	Ranking
Í	Powder: Ensure Supplement 400gm (Abbot Laboratories) or Equivalent	3000	Tin	M/s.	Faraz Associates	Almarai KSA	KSA	Powder: Neutrement Supplement 400gm	890	2,670,000	1st Lowest
	Powder: Glucerna Supplement 400gm (Abbott Laboratories) or Equivalent	1000	Tin	-	-	-	-	-	Not Quoted		æ
	Powder: PediaSure Triple sure 400gm (Abbott Laboratories) or Equivalent	2000	Tin	_	-	<u>~</u>		- ,	Not Quoted		i n
4	Powder: Beneprotein 227gm or Equivalent	1000	Tin	_	-	-		-	Not Quoted		-

Professor Shahriyar Ghazanfar MRCS Ed FCPS Prof. Shahriyar Ghazanfar epartment of Succession

Dow Medical College Prof. of Surgery

Dow University of Health Sciences Karachi th Sciences

DR. AMIR RAZA ABEDI Deputy Medical Superintendent

Dr. Syed Amir Raza Abedi MBB Trauma Centre Deputy Medical Superintendent Karachi SBB Accident Emergency

& Trauma Centre Karachi

Total S.No Name of Firm M/s. Faraz 2,670,000.00 Associates

Dr . Yasmeen Kharal

Additional medical Superintendent /DDo Shaheed Mohtarma Benazir Bhutto Accident Emergency Centre and Ancillary
Service Complex of Civil Hospital

Dr. Yasmeen Kharal

Chairperson - PC Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi DR. SAFIA ZAFAR SIDDIQUI

Department of Anaty hesion Surgical miensive Patr. (Dr.) Safra Zalar Dow University Prof. (Dr.) Safra Zalar Civil (Despitance Pach)

Dow University of Health Sciences Karachi

Pharmacist SMBB Truma Canne Karachi

Dr. Faiza Fakhar Pharmacist SBB Accident Emergency & Trauma Centre Karachi



Waseem Brothers

DEALS IN SURGICAL & HOSPITAL SUPPLY

SBB ACCIDENT EMERGENCY & TRAUMA CENTRE, KARACHI

TENDER QUOTATION PROFORMA

TENDER NO AMS/SBB-TC/PROC/(DIET-01)/2016-17 FOR THE SUPPLY OF "EXPENDITURE ON DIET FOR

PATIENTS (DIET-ENTERIC, FEEDING AND FOOD SUPPLEMENTS, DUE ON 07-2-2017 (TUESDAY)

PROSECT CORE		NAME OF ITEM	PRODUCT TO BE OFFERED	REQUIREDQUA NTITY	QUOTED YES/NO	RATE	VALUES
			RS.	RS.			
3	POWDER	ENSURE SUPPLEMENT 400GM (ABBOTT LABORATORIES) OR EQUIVALENT	ENSURE POWDER 400G (ABBOTT LABORATOIRES)	4000	YES	920.00	3,680,000.00
2	POWDER	ENSURE SUPPLEMENT 400GM (ABBOTT LABORATORIES) OR EQUIVALENT	ENSURE NUTRIVIGOR POWDER 400G (ABBOTT LABORATOIRES)	4000	YES	1150.00	4,600,000.00
	POWDER	GLUCERNA SUPPLEMENT 400GM (ABBOTT LABORATO- RIES) OR EUIVALENT	GLUCERNA SUPPLEMENT 400GM (ABBOTT LABO- RATORIES)	1000	YES	1150,00	1,150,000.00
	POWDER	PEDIASURE TRIPLESURE 400GM (ABBOTT LABORA- TORIES OR EQUIVALENT	PEDIASURE TRIPLESURE 400GM (ABBOTT LABORA-TORIES)	250	YES	851,00	212,750:00
					То	tal	9,642,750.00
					Bid Seco	urity 2%	192,855.00

i) Stocks will be supplied within Two weeks from the date of receipt of firm order,

ii) Above rates will remain valid upto June 30, 2017

WASEEM BROTHERS

ABDUL WASEEM Proprietor







227-228, HOOR CENTRE, MAPIER ROAD, SENSO HALL KARACHI-74000. 32774719, 021-32774993 HOUSE NO. B-45, BLOCK '5', GULSHAN-E-IQBAL NEAR SIR SYED UNIVERSITY, KARACHI-73500 PH: 021-34988263, 021-34969570, 0322-2223109, 0321-2421373 E-MAIL: wascoint@gmail.Com

BID EVALUATION REPORT

Name of Procuring Agency

SBB Accident, Emergency & Trauma Centre, Karachi

Tender Reference No.

AMS/SBB-TC/PROC/(Others-01) 2017-18

Tender Description / Name of Work

Supply of Other Items for Shaheed Benazir Bhutto Accident Emergency & Trauma Centre

Karachi.

Method of Procurement

Single Stage - One Envelope Procedure

Tender Published 5

SPPRA @ S. No. 35230 & CHK Websites

Total Bid Documents Sold

Four

Total Bid Received

Four

Tender Opening Date

07-December-2017

Number of Bid technically qualified

(if applicable)

Four

Number of Bid technically disqualified

None

Estimated Cost 12

20 Million

Rid Evaluation Report

S.No.	Name of Firm or Bidder	Cost Offered by Bidder	Ranking in Terms of Cost	Comparison with Estimated cost	Reasons for Acceptance	Remarks
1	2	3	4	5	6	7
1	M/s. Kontinental Establishment	3,682,800.00	Please see item wise comparative statement		On Lowest Basis.	
2	M/s. Faraz Associates	12,541,430.00	Please see item wise comparative statement	11.25 % higher than	On Lowest Basis.	
3	M/s. Haq Enterprises	3,776,220.00	Please see item wise comparative statement	estimated cost	On Lowest Basis.	
4	M/s. T.K. Medical Instruments & Co.	2,250,000	Please see item wise comparative statement		On Lowest Basis.	
	Total	22,250,450		·	0	

Reasons of acceptance / rejection have been recorded in "Minutes / Technical Evaluation Report".

Procurement Committee has recommended to award the contract to the firms whose bids were found substantially responsive in the relevant items of the lowest.

DR. SAFIA ZAFIA CHEST. MBBS. MCPS. Department of Anaesthesiology Surgical Intensive Care & Pain Management

Item wise comparative Statement is attached in ascending order.

Professor Shahriyar Ghazanian

Professor Shahriyar Ghazanian

MRCS Ed FCPS

MRCS Ed FCPS partment of Surgery ball College & Civil Hospital hisporty of Health Sciences Karachi

Prof. Shahriyar Ghazanfar

Prof. of Surgery

Dow University of Health Sciences Karachi

Dr . Yasmeen Kharal

Additional medical Superintendent /DDo Shaheed Mohtarma Benazir Bhutto Accident Emergency Centre and Ancillary Services Complex @ Civil Hospital

Karachi

Dr. Yasmeen Kharal

Chairperson - PC

Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi Spec Zofs Prof. (Dr.) Safia Zafar

Department of Anaesthesia Dow University of Health Sciences Karachi

Dow University of Health Sciences

Givil Plospital Karachi

Pharmacist SMBB Truma Centre Karachi Dr. Faiza Fakhar

Pharmacist SBB Accident Emergency & Trauma Centre Karachi

Dr Syed Amir Raza Abedi Deputy Medical Superintendent SBB Accident Emergency DR Traumer Centre Karachi RED

> ent SIVIEL

> > M name

MINUTES OF BID OPENING MEETING

NIT No.	AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November-2017
SPPRA SERIAL#	35230
Reference No.	AMS/SBB-TC/PROC/(Others-01)2017-18
Method and procedure of procurement	Single Stage - One Envelope Procedure

Name of Work:

"Supply of Other Items" for SBB Accident Emergency & Trauma Centre Karachi.

Meeting of SBB Procurement Committee (PC) was held on Thursday, 7th December, 2017 for opening of above mentioned NIT. Meeting was attended by members of the Procurement Committee and the representative of bidders. (Attendance sheets are enclosed).

In response of above, following bidders purchased tender documents for above work till closing date.

- 1. M/s. Kontinental Establishment
- 2. M/s. Haq Enterprises
- 3. M/s. T.K. Medical Instruments & Co.

While the following prospective bidders downloaded the SBD's online and attached pay order of tender fee for above work till closing date:-

1. M/s. Faraz Associates

The following bidders submitted their bids till the deadline of submission:

- 1. M/s. Kontinental Establishment
- 2. M/s. Haq Enterprises
- 3. M/s. T.K. Medical Instruments & Co.
- 4. M/s. Faraz Associates

Bids were opened at 11:30 am in presence of Procurement Committee and the rates quoted by bidders were read aloud and encircled by Chair-person of SBB Procurement Committee (PC). Members of Procurement Committee signed each and every page of financial proposal / bid. Bids do not contain any over-writing or cutting.

Procurement Committee examined the bid as per the qualification/ eligibility criteria provided in the bidding documents. After examination of required documents and arithmetical checks; Procurement Committee verified the documents and bid security submitted by the bidders.

Following bidders fulfill the mandatory requirements and stand qualified (Details are described in attached T.E.R):

- 1. M/s. Kontinental Establishment
- 2. M/s. Haq Enterprises
- 3. M/s. T.K. Medical Instruments & Co.
- 4. M/s. Faraz Associates

4 of

Jahren Jahren

Page 1 of 2

Following are the details of qualified bid announced:

S No.	Name of Bidders	Offered Price (Rs)	Amount of Bid Security	Pay Order No./ Date
1.	M/s. Kontinental Establishment	Rs. 3,682,800/-	Rs. 74,000/-	Summit Bank, Uni Tower I.I Chundrigar Road Karachi. 06-12-2017
2.	M/s. Haq Enterprises	Rs. 6,521,495/-	Rs. 150,000/-	Bank Al Habib Limited, Gulshan-e-Iqbal Branch Karachi. 06-12-2017
3.	M/s. T.K. Medical Instruments & Co.	Rs. 3,430,000/-	Rs. 69,000/-	Silk Bank, F.B Area Branch Karachi. 07-12-2017
4.	M/s. Faraz Associates	Rs. 17,793,430/-	Rs. 360,000/-	Meezan Bank, Shaheen Complex Branch Karachi 06-12-2017

Position of Financial Evaluation is attached in item wise Comparative Statement.

Procurement Committee has recommended to award the contract on lowest / quality basis to the bidders in the categories where their offers found to be best evaluated.

Meeting ended with vote of thanks to and from the Chair.

Professor Shahriyar FCPS
MRCS Ed. FCPS
Department of Surgery
Dow Medical College & Civil Hospital
Wow University of Health Sciences
Karachi

Prof. (Dr.) Shahriyar Ghazanfar

Prof. of Surgery Dow University of Health Sciences

Karachi

Dr. Syed Amir Raza Abedi

Deputy Medical Superintendent SBB Accident Emergency

& Trauma Centre Karachi

DR. AMIR RAZA ABEDI Deputy Medical Superintendent SMBB Trauma Centre Karachi

SMBB Truma Centre Dr . Yasmeen Kharal Additional medical Superintendent /DDo Shaheed Mohtarma Benazir Bhutte

Accident Emergency Centre and Ancilla SBB Accident Emergency
Services Complex Control Karachi Services Complex @ Civil Hospita Trauma Centre Karachi

Karachi Dr. Faiza Fakhar

Pharmacist

DR. SAFIA ZAFAR SIDDIQUI

Department of Anaesthesiology

Department of Anaesthesiology
Surgical Intensive Care & Pain Management
Dow University of Health Sciences
Civil Hospital Karachi
Prof. (Dr.) Safia Zafar
Department of Anaesthesiology

Dow University of Health Sciences

Karachi

Dr. Yasmeen Kharal

Chairperson - PC

Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi

NAME OF WORK : Supply of Other Items

TENDER NO. : AMS/SBB-TC/PROC/(Others-01)2017-18

NIT # : AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November-2017

SPPRA SERIAL# : 35230

DATE OF OPENING OF PROPOSAL : 07-DECEMBER-2017 at 11:30 a.m.

S.# Item Description	Req. Qty.	Unit	Name of Qualifying Firm	Brand / Make / Model	Unit Price	Total Price	Ranking	Name of Successful Bidder	
A) General Items									
Urinal for Male & Female Patient (Best Quality) Solid Plastic Large	400	Pcs.	M/s. Haq Enterprises	Local	135.00	54,000.00	1st Lowest	M/s. Haq Enterprises	
2 Bed Pan (Best Quality) Plastic Thackeray's Patten Slipper Shaped	500	Pcs.	M/s. Haq Enterprises	Local	385.00	192,500.00	1st Lowest	M/s. Haq Enterprises	
3 Needle Cutter (Best Quality)	400	Pcs.	M/s. Haq Enterprises	Local	535.00	214,000.00	1st Lowest	M/s. Haq Enterprises	
Tissue Box	6,000	Dani	M/s. Faraz Associates	Rose Petal (Executive)100*2 ply	109.48	656,880.00	1st Lowest	M/s. Faraz Associates	
(Rose Patel or equivalent)	6,000	Box.	M/s. Haq Enterprises	Rose Petal (Ultra soft) 80*2 Ply		Not Approved	İ	W/S. Paraz Associates	
5 Tissue Roll	2000	Dall	M/s. Faraz Associates	Rose Petal	34.80	104,400.00	1st Lowest	M/a Farm Associatos	
(Rose Patel or equivalent)	3000	Roll.	M/s. Haq Enterprises	Rose Petal	49.00	147,000.00	2nd Lowest	M/s. Faraz Associates	
6 Soap (Lux or equivalent)	1000	Pcs.	M/s. Haq Enterprises	Lux 115gm bar	52.00	52,000.00	1st Lowest	M/s. Haq Enterprises	
7 Soap (Lifebuoy or equivalent)	1000	Pcs.	M/s. Haq Enterprises	Lifebuoy 115gm bar	49.33	49,330.00	1st Lowest	M/s. Haq Enterprises	
8 Electrical Extension Boards 1) Multiple sockets 2) 3 meter wire (Best Quality)	500	Pcs.	M/s. Haq Enterprises	China	385.00	192,500.00	1st Lowest	M/s. Haq Enterprises	
9 Electric Kettle	20	Pcs.	M/s. Haq Enterprises	West Point WF-6173	3,500.00	70,000.00	1st Lowest	M/s. Haq Enterprises	
2 liter capacity (Best Quality) with standard	20	PCS.	M/s. Faraz Associates	West Point WF-578	3,600.00	72,000.00	2nd Lowest	M/s. riaq Enterprises	
			M/s. Faraz Associates	LIDO	5,700.00	1,140,000.00	1st Lowest		
0 Insect Killer / UV Light	200	Pcs.	M/s. Haq Enterprises	West Point WF-5115				M/s. Faraz Associate	
(2 feet & Best Quality) with standard warranty	200	rcs.	M/s. TK Medical Instruments & Co.	West Point WF-5115		Not Approved	l ·	IVI/S. Paraz Associates	
Pencil Cell (Best Quality)	300	Pcs.	M/s. Faraz Associates	TOSHIBA	13.50	4,050.00	1st Lowest	M/s. Faraz Associates	
rench Cen (Best Quanty)	300	PCS.	M/s. Haq Enterprises	TOSHIBA	14.50	4,350.00	2nd Lowest	IVI/S. Faraz Associates	
Laryngoscope cell R14KG, Size C1.5V (compatible with existing)	500	Pcs.	4	E6 1/		Not Quoted	8	<	
3 Bracket Fan (Best Quality)	200	Dog	M/s. Haq Enterprises	Royal / Pak Fan	4,850.00	970,000.00	1st Lowest	M/s. Haq Enterprises	
15 Bracket Fall (Best Quanty)	200	Pcs.	M/s. Faraz Associates	GFC	5,400.00	1,080,000.00	2nd Lowest	IVI/S. Flaq Enterprises	
14 Pedestal Fan (Best Quality)	100	Pcs.	M/s. Haq Enterprises	Royal / Pak Fan	7,800.00	780,000.00	1st Lowest	M/e Hag Enterprises	
redestal Pail (Dest Quality)	100	rcs.	M/s. Faraz Associates	GFC	8,700.00	870,000.00	2nd Lowest	M/s. Haq Enterprises	
15 Coconut Oil for CSSD (Best Quality)	50	Liter				Not Quoted			
16 Stain removal liquid for CSSD	50	Liter	M/s. Faraz Associates	Surgi Stain USA	4,800.00	240,000.00	1st Lowest	M/s. Faraz Associates	

G. X

/s. Faraz Assoc

Mahaya

NAME OF WORK Supply of Other Items

TENDER NO. AMS/SBB-TC/PROC/(Others-01)2017-18

NIT# AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November-2017

SPPRA SERIAL # 35230

DATE OF OPENING OF PROPOSAL 07-DECEMBER-2017 at 11:30 a.m.

S.#	Item Description	Req. Qty.	Unit	Name of Qualifying Firm	Brand / Make / Model	Unit Price	Total Price	Ranking	Name of Successful Bidder	
17	Bathroom / Weighing scale machine (Best Quality) Neonatal= 3 Adult= 10 With standard warranty	13	Pcs.	M/s. Haq Enterprises	Tanita Japan	2,400.00	31,200.00	1st Lowest	M/s. Haq Enterprises	
8	Copper Brush for CSSD cleaning rust from instruments (Best Quality)	120	Pcs.				Not Quoted			
9	Box Folder (Best Quality) Made : PVC	500	Pcs.	M/s. Faraz Associates M/s. Haq Enterprises	Local Local	177.00 248.00	88,500.00 124,000.00	1st Lowest 2nd Lowest	M/s. Faraz Associates	
20	Formaldehyde Indicators for CSSD	3000	Pcs.	M/s. Faraz Associates	Argentina	12.00	36,000.00	1st Lowest	M/s. Faraz Associates	
1	Steam Indicators for CSSD	5000	Pcs.	M/s. Faraz Associates	Argentina	13.60	68,000.00	1st Lowest	M/s. Faraz Associates	
22	Entiscaland Chemical for CSSD	50	Liter			Not Quoted				
23	Liquid washing soap for Hand Wash (Best Quality)	3500	Liter	M/s. Faraz Associates	Promark Local	190.00	665,000.00	1st Lowest	M/s. Faraz Associates	
:4	Large Container Box (5 Liter) (Best Quality) Material: Plastic for Disinfection / Decontamination of Instruments at site.	20	Pcs.	M/s. Faraz Associates	Turkey		7	Not Approved		
	Lifter for HVAC Rated capacity (Q): Kg 1000 or more Load Centre (C): mm 400 or more Min Fork Length: mm up to 1600 Fork length (L): mm up to 2200 Fork width (E): mm up to 1700 Min. Turning Radius 1350mm Lifting motor: 12/1.5 v/Kw Aneroid Battery: 12/120-150 v/ah Charge: 12/15 v/A Overall net weight: up to 275kg Country of Origin: Imported. Warranty period: Two years	1	Pcs.		g		Not Quoted	C	X y	

NAME OF WORK

Supply of Other Items

TENDER NO.

AMS/SBB-TC/PROC/(Others-01)2017-18

NIT#

AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November-2017

SPPRA SERIAL#

35230

DATE OF OPENING OF PROPOSAL

07-DECEMBER-2017 at 11:30 a.m.

S.#	Item Description	Req. Qty.	Unit	Name of Qualifying Firm	Brand / Make / Model	Unit Price	Total Price	Ranking	Name of Successful Bidder
26	Air compressor for HVAC: 135 max PSI 6.0 gallon tank with oil-lubricated pump 3.8 SCFM delivered @ 90PSI enables long run time with quick recovery Ball drain value allows for quick and thorough tank draining Pressure gauges angled up toward user for accurate pressure adjustments Large flat-free tires and pull handle allow for easy mobility CFM @ 90PSI 3.8 CFM Power supply 120	1	Pcs				Not Quoted		
	Tank size 6 gallon Country of Origin: Local / Imported. Warranty period: Two years								
27	Weighing scale machine for Linen Department with platform and scale weight up to 300Kg. Warranty period: Two years	2	Pcs.	M/s. Faraz Associates	Local	18,000.00	36,000.00	1st Lowest	M/s. Faraz Associates
28	Alcoholic wipes (Best Quality) (each pack has 200pcs. Per Box preferably)	5,000	Box	M/s. Faraz Associates	UK	1,080.00	5,400,000.00	1st Lowest	M/s. Faraz Associates
29	Danger Box (Best Quality)	5,000	Pcs.	M/s. Faraz Associates	Promark Local	115.00	575,000.00	1st Lowest	M/s. Faraz Associates
30	Surface disinfectant (300 Bottles conservative of 10ml/Liter or equivalent)	30,000	Liter	M/s. Faraz Associates	UK	26.40 per 10ml make 1 liter	792,000.00	1st Lowest	M/s. Faraz Associates
31	Fridge Small 6 / 7 cubic feet. Two doors Warranty period: Two years	3	Pcs.	M/s. Haq Enterprises	Hair / Dawlance / PEL	37,850.00	113,550.00	1st Lowest	M/s. Haq Enterprises
32	Fridge Large 18 cubic feet. Two doors Warranty period: Two years	10	Pcs.	M/s. Haq Enterprises	Hair / Dawlance / PEL	71,500.00	715,000.00	1st Lowest	M/s. Haq Enterprises

NAME OF WORK Supply of Other Items

TENDER NO. AMS/SBB-TC/PROC/(Others-01)2017-18

NIT# AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November-2017

SPPRA SERIAL# 35230

DATE OF OPENING OF PROPOSAL 07-DECEMBER-2017 at 11:30 a m.

S.#	Item Description	Req. Qty.	Unit	Name of Qualifying Firm	Brand / Make / Model	Unit Price	Total Price	Ranking	Name of Successful Bidder
33	Instrument Trolleys for Interventional Radiology Department • Frame constructed of 2½cm stainless steel pipe • Trolley fitted with stainless steel sheet shelves	5	Pcs.	M/s. TK Medical Instruments & Co.	TK Medical Instruments & Co.	60,000.00 300,000.00 Ist Lowest Not Approved		1st Lowest	-M/s, TK Medical Instru
33	Shelves are 2cm recessed trays for safety of instruments Mobile on 75mm dia. Wheels Size: 2.5 x 6 feet. ISO9001 & CE certified fabrication (Same as existing at SBB Trauma Centre)	,	rcs.	M/s. Faraz Associates	Local			-M/s. 1 K Medicai Instrui	
	Instrument Trolleys Frame constructed of 2½cm stainless steel pipe Trolley fitted with stainless steel sheet shelves			M/s. TK Medical Instruments & Co.	TK Medical Instruments & Co.	26,000.00	1,950,000.00	1st Lowest	
34	Shelves are 2cm recessed trays for safety of instruments Mobile on 75mm dia. Wheels Size: 43 x 73 x 82(H) cm	75	Pcs.	M/s. Faraz Associates	Local	36,300.00	2,722,500.00	2nd Lowest	M/s. TK Medical Instruments & Co.
	ISO9001 & CE certified fabrication ER & Others = 75 (Same as existing at SBB Trauma Centre)			M/s. Haq Enterprises	Local	Not Approved			
35	Patient Curtains washable matching with existing at site with SBB Trauma Centre Logo (Same as existing)	250	Pairs				Not Quoted		
36	Accessories of washable curtains compatible for existing at trauma centre: a) Curtain Runners=5,000 Pcs. b) Curtains Stopper=1,000 Pcs. c) Curtains Hooks S.S= 5,000Pcs. d) Curtains Runners Oil= 5 Ltr.	,		i A			Not Quoted		
37	Batteries for the UPS's of Operation Theaters Model: CP1270A Battery Rating: 12Volt 7Ah Absorbent Glass Mat for efficient gas recombination of up to 99% and freedom from electrolyte maintenance or water adding. Recognized component. Can be mounted in any orientation. Computer designed lead, calcium tin alloy grid for high power density. Long service life, float or cyclic applications. Maintenance-free operation. Low self discharge. Case and cover available in both standard and flame retardant.	1674	Pcs.	M/s. Kontinental Establishment	Vision Batteries Model # CP1270A	2,200.00	3,682,800.00	1st Lowest	M/s. Kontinental Establishment

NAME OF WORK : Supply of Other Items

TENDER NO. : AMS/SBB-TC/PROC/(Others-01)2017-18

NIT # : AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November-2017

SPPRA SERIAL# : 35230

DATE OF OPENING OF PROPOSAL : 07-DECEMBER-2017 at 11:30 a.m.

S.#	Item Description	Req. Qty.	Unit	Name of Qualifying Firm	Brand / Make / Model	Unit Price	Total Price	Ranking	Name of Successful Bidder
38	Wall Clocks Large=80 Size: Base should be 15" x 15" Shape: Round with frame of wood/plastic material or better Background: Logo/Name of Institute Printing of Background: UV or screen printing or better Machine: "A" quality imported Battery: AA single cell replaceable Country of Origin: Local or Imported	80	Pcs.	M/s. Faraz Associates	Local	1,375.00	110,000.00	1st Lowest	M/s. Faraz Associates
38A	Wall Clocks Medium= 180 Size: Base should be 12" x 12" Shape: Round with frame of wood/plastic material or better Background: Logo/Name of Institute Printing of Background: UV or screen printing or better Machine: "A" quality imported Battery: AA single cell replaceable Country of Origin: Local or Imported	180	Pcs.	M/s. Faraz Associates	Local	1,100.00	198,000.00	1st Lowest	M/s. Faraz Associates
	Crockery Items:								
1	Glass (Same as existing)	20	Dozen	M/s. Haq Enterprises	Imported	1,230.00	24,600.00	1st Lowest	M/s. Haq Enterprises
2	Cup with Saucer (Same as existing) (each set have 6 cups and 6 saucers)	25	Sets	M/s. Haq Enterprises	China	1,850,00	46,250.00	. 1st Lowest	M/s. Haq Enterprises
3	Spoon's (Same as existing) Table= 25 Dozen Tea= 25 Dozen	50	Dozen	M/s. Haq Enterprises	Local	490.00	24,500.00	1st Lowest	M/s. Haq Enterprises
4	Serving Bowls (same as existing)	10	Pcs.				Not Quoted		
5	Dinner Plates (same as existing)	20	Dozen	M/s. Haq Enterprises	China	3,400.00	68,000.00	1st Lowest	M/s. Haq Enterprises
6	Quarter Plates (same as exiting)	20	Dozen	M/s. Haq Enterprises	China	2,700.00	54,000.00	1st Lowest	M/s. Haq Enterprises
7	Sugar Pots (same as existing)	10	Dozen	M/s. Haq Enterprises	China	5,999.00	59,990.00	1st Lowest	M/s. Haq Enterprises
8	Rice Dishes (Same as existing)	30	Pcs.	M/s. Haq Enterprises	China	650.00	19,500.00	1st Lowest	M/s. Haq Enterprises
9	Serving Bowl Spoon (Same as existing)	30	Pcs.	M/s. Haq Enterprises	Local	140.00	4,200.00	1st Lowest	M/s. Haq Enterprises
10	Serving Rice Spoon (Same as existing)	30	Pcs.	M/s. Haq Enterprises	Local	120.00	3,600.00	1st Lowest	M/s. Haq Enterprises
11	Tray Set (Same as existing) (each set have 1 large Tray, 1 Medium & 1 small)	30	Pcs.	M/s. Haq Enterprises	Plastic Local	1,250.00	37,500.00	1st Lowest	M/s. Haq Enterprises

Challege

X

NAME OF WORK

Supply of Other Items

TENDER NO.

AMS/SBB-TC/PROC/(Others-01)2017-18

NIT#

AMS/SBB-TC/PROC/2017-18/124 Dated: 06-November-2017

SPPRA SERIAL#

35230

DATE OF OPENING OF PROPOSAL

07-DECEMBER-2017 at 11:30 a m

S.#	Item Description	Req. Qty.	Unit	Name of Qualifying Firm	Brand / Make / Model	Unit Price	Total Price	Ranking	Name of Successful Bidder
C)	Linen Washing Material:								
1	Heavy Duty Laundry Detergent (best quality)	1800	Kg	M/s. Faraz Associates	Kleanex	484.50	872,100.00	1st Lowest	M/s. Faraz Associates
2	Laundry Neutralizer (best quality)	1800	Kg	M/s. Faraz Associates	Kleanex	425.00	765,000.00	1st Lowest	M/s. Faraz Associates
50-	Liquid Detergent / Washing Soap (best quality)	1000	Ltr.	M/s. Faraz Associates	Kleanex	425.00	425,000.00	1st Lowest	M/s. Faraz Associates
4	Fabric Softener	300	Ltr.	M/s. Faraz Associates	Kleanex	425.00	127,500.00	1st Lowest	M/s. Faraz Associates
	Color safe De-Steiner / Liquid bleach (Best Quality)	1000	Ltr.	M/s. Faraz Associates	Kleanex	238.00	238,000.00	1st Lowest	M/s. Faraz Associates

S.#	Firms Name	Awarded Amount
1	M/s. Haq Enterprises	3,776,220
2	M/s. Faraz Associates	12,541,430
3	M/s. Kontinental Establishment	3,682,800
4	M/s. TK Medical	2,250,000
	Total	22,250,450

W professor ahahriyar ahazanfar Department of Surgery Prof. Shahriyar Gharankarwersity of Health Sciences
Prof. of Surgery
Dow University

Dow University of Health Sciences Karachi

Dr. Yasmeen Kharal

Additional medical Superintendent (DNo. Shaheed Mohtarma Benazir Bhatto Accident Emergency-Centre and Anc. 117 Services Complex @ Civil Hospital

Dr. Yasmeen Kharal

Chairperson - PC

Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi

DR. SAFIA ZAFAR SIDDIQUI Department of Anaesthesiology Department of Anaesthesiology
Surgical Intensive Care & Pain Management
Surgical Intensive Of Health Sciences
Civil Hospital Karachi
Civil Hospital Karachi

Department of Anaesthesia

Dow University of Health Sciences Karachi

Pharmacist SMBB Truma Centre Karachi

Dr. Faiza Fakhar

Pharmacist

SBB Accident Emergency & Trauma Centre Karachi

SBB Accident Emergency & Trauma Rentre Karachi

Medical Superintendent

SBB Accident Emergency & Trauma Rentre Karachi

Medical Trauma Centre Karachi

Karachi

SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE, KARACHI TECHNICAL EVALUATION REPORT (T.E.R)

TENDER NO.
DATE OF OPENING OF PROPOSAL
NAME OF WORK

AMS/SBB-TC/PROC/(Others-01)2017-18 07-December-2017 Supply of Other Items

S.#	List of Documents	M/s. Faraz Associates	M/s. Haq Enterprises	M/s. TK Medical Instruments & Co.	M/s. Kontinental Establishment
1	Compliance of Terms & Conditions / Instructions mentioned in the Bid Form / NIT.	Yes	Yes	Yes	Yes
2	Relevant Experience with documentary proof (Last Three Years)	Yes	Yes	Yes	Yes
3	i) Registration with Income Tax – NTN Certificate ii) Copy of Professional Tax	Yes	Yes	Yes	Yes
4	a) General Sales Tax (Mandatory) b) Sindh Sales Tax (if applicable) / Sindh Board of Revenue (Registration is not required in procurement of Goods)	Yes	Yes	Yes	Yes
5	Original Bank Certificate regarding financial soundness (Last Three Years) of the firm to do business up till 20 Million each year	Yes	Yes	Yes	Yes
6	Submission of undertaking on legal valid and attested stamp paper that the firm is not blacklisted and litigated by any institute of Federal, Provincial Government or any Department / Agency / Organization / autonomous body or Private Sector Organization anywhere in Pakistan.	Vac	Yes	Yes	Yes
7	Bidder already providing same services at SBB-TC should obtain & attach a satisfactory performance certificate from competent authority.	Yes	Yes	Not Applicable	Not Applicable
	Remarks	Qualified	Qualified	Qualified	Qualified

Prof. Shahriyar Ghazanfar

Prof. of Surgery

Dow University of Health Sciences Karachi

Dr. Syed Amir Raza Abedi

Deputy Medical Superintendent

SBB Accident Emergency & Trauma Centre Karachi

Dr. Yasmeen Kharal

Additional medical Superintendent /DDo Shaheed Ventarma Benedir Bhutto Accident Embrency General Ancillary

Service Dr. Pasincen Kharal Hospital

Additional Medical Superintendent SBB Accident Emergency & Trauma Centre Karachi Prof. (Dr.) Safia Zafar Department of Anaesthesia

Dow University of Health Sciences Karachi

Dr. Faiza Fakhar Pharmacist

SBB Accident Emergency & Trauma Centre Karachi

· FAIZA FAKHAR Pharmacist SMBB Truma Centçe Karachi

DR. AMIR RAZA ABEDI Deputy Medicai Superintendent SMBB Trauma Centre

Karachi



SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

No: AMS/SBB-TC/PROC/2017-18/124 Dated: 06 -November -2017

TENDER NOTICE

Shaheed Benazir Bhutto Accident Emergency & Trauma Centre invites sealed bids as per Sindh Public Procurement Regulatory Authority Rules from the Manufactures/Suppliers/Authorized Distributors etc. for Current Financial Year 2017-18 of followings:

S.#	Name of Tenders	Bidding Document Cost (Rs.)	Bid / Tender Security	Tender Purchasing Date	Date of Submission and Opening
1.	Supply of Expenditure on Diet for Patients (Diet-Enteric, Feeding and Food Supplements) Tender Reference # AMS / SBB-TC / PROC / (DIET-01) 2017-18 Bidding Procedure: Single Stage- One Envelope 46(1)	2000	2% of Bid Amount	07-11-2017 to 29-11-2017	30-11-2017 between 09:00 - 11:00 a.m. and 30-11-2017 at 11:30 a.m. respectively
2.	Supply of Newspaper, Periodical, Medical Books and Journals Tender Reference # AMS / SBB-TC / PROC / (NPB-01) 2017-18 Bidding Procedure: Single Stage- One Envelope 46(1)	2000	2% of Bid Amount	14-11-2017 to 07-12-2017	07-12-2017 between 09:00 - 11:00 a.m. and 07-12-2017 at 11:30 a.m. respectively
3.	Supply of Other Items Tender Reference # AMS / SBB-TC / PROC / (OTHERS-01) 2017-18 Bidding Procedure: Single Stage- One Envelope 46(1)	2000	2% of Bid Amount	14-11-2017 to 07-12-2017	07-12-2017 between 09:00 - 11:00 a.m. and 07-12-2017 at 11:30 a.m. respectively
4.	Supply of Uniform and Protective Clothing Tender Reference # AMS / SBB-TC / PROC / (UPC-01) 2017-18 Bidding Procedure: Single Stage- Two Envelope 46(2)	2000	2% of Bid Amount	14-11-2017 to 14-12-2017	14-12-2017 between 09:00 - 11:00 a.m. and 14-12-2017 at 11:30 a.m. respectively

Complete set of tender documents containing BOQ, Specification and Terms & Conditions can be purchased from Planning & Procurement Department, Twelve Floor SBB Accident Emergency & Trauma Centre through pay order of Rs. 2000 each in favor of Addl. Medical Superintendent SBB Trauma Centre, Chand Bibi Road, Karachi Tender documents can also be downloaded from SPPRA website www.pprasindh.gov.pk and <a href="https://wwww.ppras

SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

No: AMS/SBB-TC/PROC/2017-18/124 Dated: 06-Novemble -2017

Ph: 02199216384 Fax: 02199215733

- Bids must be submitted on the above date between 09:00 to 11:00 a.m. at Planning & Procurement Department, Twelve Floor SBB Accident Emergency & Trauma Centre.
- Submitted bids will be opened publicly at 11:30 a.m. on the same day in the presence of bidders or their authorized representatives who choose to attend.
- 4. All bid(s) shall include Government Taxes/Contribution etc. (if applicable).
- 5. The deductions in the bills will be done as per Government rules.
- Bid / Tender Security @ 2% of total value of the quoted items by firms in shape of Pay Order / Demand Draft must be attached.
- In case of announcement of Public Holiday or any unfavorable circumstances, the bids shall be submitted and opened as per given schedule on the next working day.

ADDL, MEDICAL SUPERINTENDENT/DDO SBB Accident Emergency & Trauma Centre

A copy is forwarded for information to:

1. Notice Board





GOVERNMENT OF SINDH HEALTH DEPARTMENT

NOTIFICATION

No.SO(PM&I)2-1/17-18/M-13(SBBTC): A Procurement Committee under Rules-7 of Sindh Public Procurement Rules 2010 (Amended 2017) is hereby constituted comprising the following Officers / Official for procurement committee for all the procurement procedures of SBB Accident Emergency & Trauma Centre, Karachi, for the financial year 2017-18.

01.	Additional Medical Superintendent. SBB Accident Emergency & Trauma Centre.	Chairmar
02.	Professor of Anaesthesia. Dow University of Health Sciences.	Member
03.	Professor of Surgery, Dow University of Health Sciences.	Member
04.	Deputy Medical Superintendent, SBB Accident Emergency & Trauma Centre.	Member
05.	Pharmacist, SBB Accident Emergency & Trauma Centre.	Member

TORs

The TORs / Functions / Responsibilities of the Procurement committee in accordance with Rule-8 of SPP Rules 2010 shall be as under:

- a) Preparing bidding documents:
- b) Carrying out technical as well as financial evaluation of the bids:
- c) Preparing evaluation report as provided in Rule-45:
- d) Making recommendations for the award of contract to the competent authority;
- e) Perform any other function ancillary and incidental to the above.

SECRETARY HEALTH

No.SO(PM&I)2-1/17-18/M-13(SBBTC):

Karachi, dated: 03rd July, 2017

C.C to:

- 1. The Managing Director, Sindh Public Procurement Regulatory Authority, Karachi.
- The Addl. Medical Superintendent, SBB Accident Emergency & Trauma Centre. Karachi with reference to his letter dated: 21.06.2017.
- 3. The Chairman & all members of the Committee.
- 4. The P.S. to Secretary Health.

(NAVERDALIMED SOOMRO)





NOTIFICATION

NO.HD (P&E) 1-2 (61) / 2014: The Government of Sindh, Health Department is pleased to constitute a <u>Redressal Committee under Rule 31</u> of Sindh Public Procurement Rules 2010 comprising of following Officers in order to redress any grievance of rejected party(s) in short listing for selection of consultant(s), contractors, purchase of Machinery / Equipments, Furniture Extures and services etc under all Annual Development Program (ADP) schemes (New & Ongoing);

1.	Special Secretary (P.H)	Chairman		
	Health Department, Govt. of Sindh			
2.	Additional Secretary (Dev)	Member		
	Health Department, Govt. of Sindh			
3	Representative of AG Sindh	Member		
4.	Prof. Tariq Mahmood	Member		
	Jinnah Post Graduate Medical Centre Karachi			
5.	Field Expert	Member		

The committee will observe all the codal formalities as per Sindh Public Procurement Rules 2010

IQBAL HUSSAIN DURANI SECRETARY HEALTH

NO.HD (P&E) 1-2 (61) / 2014

Karachi, dated the 13th February, 2014

A copy is forwarded for information and necessary action to:

The Additional Chief Secretary, Planning & Development Department, Government of Sindh, Karachi

The Secretary, Finance & Cooperation Department, Government of Sindh, Karachi

The Special Secretary (PH), Health Department, Government of Sindh, Karachi

D.S. staff to Chief Secretary, Government of Sindh, Karachi

Managing Director, Sindh Public Procurement Regulatory Authority, Karachi

The Accountant General Sindh, Karachi

The Additional Secretary (Admin), Health Department, Government of Sindh, Karachi

The Additional Secretary (Dev), Health Department, Government of Sindh, Karachi

The Additional Secretary (PM&I), Health Department, Government of Sindh, Karachi

Marked Superintendent (All).
Project Director (All). Stulies & Molific m. Bringon Blutto

District Accounts Officer (All).

55 to Secretary Health, Government of Sindh, Karachi

The state of the s

(SHEERAZ MEMON)

ATTENDENCE SHEET OPENING OF PROPOSAL DATE OF MEETING: 07-DECEMBER-2017 AT 11:30 a.m.

NAME OF TENDER:

"SUPPLY OF OTHER ITEMS"

FOR SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

TENDER REFERENCE

Ref# AMS/SBB-TC/PROC/(Others-01)2017-18

S.#	MEMBERS		SIGNATURE	PHONE NO.
1.	Dr. Yasmeen Kharal Additional Medical Superintendent SBB Accident Emergency & Trauma Cer Karachi	ntre US	und.	0333-2193118
2.	Prof. (Dr.) Safia Zafar Department of Anaesthesia Dow University of Health Sciences Karachi	4	fe. 2 f	0333-2149249
3.	Prof. (Dr.) Shahriyar Ghazanfar Department of Surgery Dow University of Health Sciences Karachi	alahinga		0333-3782429
4.	Dr. Amir Raza Abedi Deputy Medical Superintendent SBB Accident Emergency & Trauma Ce Karachi	entre		0321-2420372
5.	Dr. Faiza Fakhar Pharmacist SBB Accident Emergency & Trauma Cer Karachi	ntre	4	0323-2468305

ATTENDENCE SHEET OF BIDDERS

NAME OF TENDER: "SUPPLY OF OTHER ITEMS" AT SHAHEED BENAZIR BHUTTO ACCIDENT EMERGENCY & TRAUMA CENTRE KARACHI

Tender Ref #AMS/SBB-TC/PROC/(Others-01) 2017-18

OPENING OF PROPOSAL DATE & TIME OF MEETING: 07-DECEMBER-2017 AT 11:30 A.M

Sr.#	NAME OF COMPANY	11.000000000000000000000000000000000000	OF COMPANY RESENTATIVE	SIGNATURE	PHONE NO.
1	T. K. Medical Instruments	Mr. Kanran A	hsari	Poly	0300-9203101
2			AL_Q	April	0314.212043
3	KONINENTAL ESTABLISHMENT	Mr. A. 611	AL Samoo	(Invited	0333-2186098.
4		Mr.	1	or	>
5		Mr.		0	
6		Mr.	6	Sign	
7		Mr.			
8		Mr.			-
9		Mr.	112/17		
10		Mr.			
11		Mr.		-	

Juliena